
Free Plans by                      /   Mazay DIY                                                                          1                                                                                                           3D model  |  Video Tutorial 

Homemade Jigsaw Table [Free PLANS]

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          2                                                                                                           3D model  |  Video Tutorial 

 

 
 
Materials: 

1. Bolt M8x25 x 2 

2. Bolt M8x50 x 4 

3. Bearing 608 ZZ x 2 

4. Nail x 1 

5. Nut M8 x 4 

6. Wing nut M8 x 7 

7. Flat washer 8 x 3 

8. Wood to metal dowels M8x80 x 1 

9. Plywood 12 mm 

10. Plywood 18 mm 

11. Lumber 40×40 mm or Lumber 45×45 mm 

12. Wood Chipboard or Plywood 18 mm 

13. Steel angle bar 25x25x3 

 

 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/
https://amzn.to/348U4eG
https://amzn.to/2R9H03m
https://amzn.to/348To9e
https://amzn.to/2RaREXY
https://amzn.to/2R7EvhZ
https://amzn.to/2V4B4tX
https://amzn.to/2ViFltV
https://amzn.to/2V18t8G


Free Plans by                      /   Mazay DIY                                                                          3                                                                                                           3D model  |  Video Tutorial 

 

Fasteners: 

• Wing nut M8 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/
https://amzn.to/2R7EvhZ


Free Plans by                      /   Mazay DIY                                                                          4                                                                                                           3D model  |  Video Tutorial 

  

Fasteners: 

• Bolt M8x50 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/
https://amzn.to/2R9H03m


Free Plans by                      /   Mazay DIY                                                                          5                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          6                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          7                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          8                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          9                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          10                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          11                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          12                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          13                                                                                                           3D model  |  Video Tutorial 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/


Free Plans by                      /   Mazay DIY                                                                          14                                                                                                           3D model  |  Video Tutorial 

  

Materials: 

• Bearing 608 ZZ 

• Bolt M8x25 

• Bolt M8x50 

• Nut M8 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/
https://amzn.to/348To9e
https://amzn.to/348U4eG
https://amzn.to/2R9H03m
https://amzn.to/2R9H03m
https://amzn.to/2RaREXY


Free Plans by                      /   Mazay DIY                                                                          15                                                                                                           3D model  |  Video Tutorial 

 
Fasteners: 

• Wing nut M8 

• Flat washer 8 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/
https://amzn.to/2R7EvhZ
https://amzn.to/2R7EvhZ
https://amzn.to/2V4B4tX


Free Plans by                      /   Mazay DIY                                                                          16                                                                                                           3D model  |  Video Tutorial 

 
Fasteners: 

• Nail 

• Wing nut M8 

• Flat washer 8 

• Wood to metal dowel M8x80 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/
https://amzn.to/2R7EvhZ
https://amzn.to/2R7EvhZ
https://amzn.to/2V4B4tX
https://amzn.to/2ViFltV
https://amzn.to/2ViFltV


Free Plans by                      /   Mazay DIY                                                                          17                                                                                                           3D model  |  Video Tutorial 

 

 

http://www.youtube.com/channel/UCdDDul0pcSpn6fP0jHhJFjg
https://grabcad.com/library/homemade-jigsaw-table-1
https://youtu.be/qhrJ3ffeLSI
https://mazaydiy.com/

